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1. Fill in the following table of values of Arg(x + iy) = atan2(y, ), defined to lie in the interval
(—m, 7). (The ® indicates that the quantity cannot be defined.)

Arg(z + iy) 3 ‘ 1 0 ‘ 1 ‘ V3




2. Fill in the following table of values of y/x (use a ® to indicate that the quantity cannot be
defined).

y/w V3| - 0 1| V3
V3
1
y 0
1
V3

3. Fill in the following table of values of the principal arctangent of y/x, defined to lie in the
interval (—m/2,7/2) (use a ® to indicate that the quantity cannot be defined).

Arctan(y/z) | Vi | - 303 Y
V3
1
y 0
—1
—V3




